e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




Rot sy

== Land FORD
B-MAX 1st Gen 2012 after
FO-13233 FO-12231
Rot Mili Rotbasi
ﬂ On On Sag
14x1,5-L=294mm BES8Z3A130
8V513L519AA
|
FO-12232 FO-11234
& Rotbasg! Rotil
(! On Sol On Alt
w BE823A131A 1751955
|
FO-16549 FO-16548
" Rotilli Salincak Rotilli Salincak —
:1 On Sol On Sag
o 1834055 1834054
|
FO-14236 FO-14236A
Z-Rot Z-Rot
Lﬁ? On On
Usatype Metal-L=251mm
8V513B438AB 8V575K484B
|
FO-201002
/::-—-—,:t‘\ Salincak Burcu
[ On
\ 1751955

2004-2010
FO-19440 FO-13463
Denge Kolu Rot Mili
A Arka Ust Onig ——
1329730 M16x1.5,L=293mm
1377655
Rot Mili Kiti Denge Kolu
On Arka Ust
4M513L519AB 8V415500AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

C-MAX

FO-12461 FO-12462
Rotbasi Rotbasi
On Sag On Sol
M16x1,5Rht M16x1,5Rht
274501 1388549
FO-11465 FO-16466
Rotil Rotilli Salincak
On On Sag Alt
D=@15mm Ball Joint D=@18mm
3M513K209AA 1309148
FO-16467 FO-11464
Rotilli Salincak Rotil
On Sol Alt On Alt
D=@18mm D=17,8mm
1309149 3M513395BC
FO-16478 FO-16466N
Rotilli Salincak Rotilsiz Salincak
On Sag On Sag Alt
D=221mm  4\513A423BC
31262037
FO-14469 FO-16467N
Z-Rot Rotilsiz Salincak
Arka On Sol Alt
L=76mm  4M513A524AC
30683232
FO-18420 FO-14468
Salincak Tamir Kiti Z-Rot
On On
FO-467/FO-466/FO-461/F-462/FO-46A§6 L=298mm
1686594

FO-16479

Rotilli Salincak

On Sol Alt
D=@21mm

31262039

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD
2004-2010

1¥17]

=

Ve
~
—

parsrot.com

info@parsrot.com



—
sy L and

C-MAX

FO-20287 FO-20712
Salincak Burcu Salincak Burcu
Arka Arka
1686184 1502738

FO-20590
Salincak Burcu
Orta
30714128
FO-20803 FO-20805
Salincak Burcu Salincak Burcu
Sag Alt Sol Alt
AV613A423MA BV6Z3078F
FO-13463K FO-13463
Rot Mili Kiti Rot Mili
On Onig
4AM513L519AB M16x1.5,L=293mm
1377655
FO-16488 FO-16489
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
(ALM) (ALM)
AV613A423PA AV613A424PA
FO-14480 FO-19487
Z-Rot Denge Kolu
Arka Arka
L=76mm  gyg15K652AE
BV615C486BAA
FO-12481 FO-12482
Rotbasi Rotbasi
On Sag On Sol
M16X1,5 M16X1,5
1780102 1780103

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2007-2010

2010 after

parsrot.com

info@parsrot.com



Rot sy

= Land FORD
C-MAX 2010 after
|
FO-14468 FO-19477
Z-Rot Denge Kolu P
,—h On Arka Ust
L=298mm  Ave15500CB
1686594
| |
FO-20524
Salincak Burcu
On Sag Alt ig
1749992
C-MAX 2013 after
|
FO-19297 FO-13193
~ Denge Kolu Rot Mili
! Arka Ust On
AV6Z5500A AV6Z3280E
FO-16794 FO-16795
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
UsaMarket,Aluminium UsaMarket,Aluminium
BV6Z3078F BV6Z3079F
FO-12111 FO-13107
Rotbasi Rot Mili
On Sag On
M14x2Rht M1/2"x20Rht-L=302mm
1020174 89FB32555BA
FO-12112 FO-11115
Rotbasi Rotil
On Sol On
M14x2Rht D=@16.5mm
1020175 94FB3395A2B
FO-16263 FO-16264
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
PowerSteering PowerSteering
94FB3042BA 94FB3051BA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land FORD
________________________________________________________________________________________________________________________________________|
COURIER 1994-1996
|
FO-16263N FO-16264N
= Rotilsiz Salincak Rotilsiz Salincak =
On Sag Alt On Sol Alt
94FB3042BA 94FB3051BA
|
FO-2087 FO-2086
Salincak Burcu Salincak Burcu
OnDig On Sag Alt ig
91AB3A262AA 89FB3063AD
COURIER 1996-2001
| |
FO-2088 FO-2089
= Salincak Burcu Salincak Burcu N
On Sag Altig On Dis
96FB3063AA 96FB3A262AD
|
FO-13114 FO-16285
Rot Mili Rotilli Salincak
On On Sag Alt
M14x2-L=313mm 1058326
B196FB3L519BA
|
FO-16286 FO-16295
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
1058332 98FB3042BD
FO-16296 FO-16295N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
98FB3051BD 98FB3042BD
|
FO-16296N FO-23111114
= Rotilsiz Salincak Rot Takimi N
OnSolAlt  On Sag !
98FB3051BD 1E0032280A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

8

info@parsrot.com



—
sy L and

FORD

—————
COURIER 1996-2001

FO-23112114 FO0O-20353
Rot Takimi Salincak Burcu
On Sol Arka
1E0132280A 7371059
COURIER 1st Gen
|
FO-14890 FO-16548
Z-Rot Rotilli Salincak
On On Sag
L=290mm 4834054
BK213B438AA
|
FO-16549 FO-11234
Rotilli Salincak Rotil
On Sol On Alt
1834055 1751955
FO-12232 FO0O-12231
& Rotbasi Rotbasi
(! OnSol  OnSag
P BE823A131A BE8Z3A130
|
FO-13233 FO0-201002
Rot Mili Salincak Burcu
= — et On On
14x1,5-L=294mm 1751955
8V513L519AA
CROWN VICTORIA 1st Gen
|
FO-121001 FO-121122
Rotbasi Rotbasi
On Dis Onig
2W7Z3A130A 2W7Z3A131A
FO-141000 CH-460
Z-Rot Z-Rot
On Arka
F8AZ5K484AA 159663924

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
CROWN VICTORIA 2nd Gen 1998-2012
|
CH-460 FO-141000
Z-Rot Z-Rot
Arka On
_ 159663924 F8AZ5K484AA
2nd Gen 2003-2011
.|
FO-131003 FO-141006
Rot Mili Z-Rot —
On On
8W7Z3280A 3W1Z5K484AA

E-150 4th Gen 2009-2014

| .|
FO-141076A FO-111085
Z-Rot Rotil
On On Ust
8C2Z5K483A 5C2Z3049AA

FO-111071

Rotil

On Ust

F5UZ3049A
E-250 4th Gen 2009-2014
| .|

FO-111071 FO-111085
P Roti  Rotil
:'d"? ‘ On Ust On Ust
‘ F5UZ3049A 5C2Z3049AA

.|

FO-141076A

Z-Rot

On

8C2Z5K483A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
E-350 2008-2017
|
FO-141076A FO-121111
Z-Rot Rotbasi
On On Sag Dis
8C2Z5K483A 8C2Z3A131D
|
FO-121112
Rotbasi
On Sol Dis
6C2Z3A131C
2008-2016
FO-121112 FO-121111
Rotbasi Rotbasi
On Sol Dig On Sag Dis
6C2Z3A131C 8C2Z3A131D
FO-141076A
Z-Rot
On
8C2Z5K483A
U387 2006-2014
FO-19178 FO-13173
Denge Kolu Rot Mili
Arka On
7T4Z5500A 7T4Z3280A
FO-12174 FO-12175
Rotbasi Rotbasi
On Sag On Sol
7T4Z3A130A 7T4Z3A130B
MA-11815 FO-16170
Rotil Rotilli Salincak
On Alt On Sag Alt
TD1134300E 8T4Z3078A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

mw Land FORD
EDGE U387 2006-2014
FO-16171 FO-14176
Rotilli Salincak Z-Rot
On Sol Alt On
_ 8T4Z3079A 7TT4Z5K483A .
| |
FO-14177
— Z-Rot
Arka
7TT4AZ5A486AA
ESCAPE 1st Gen 2001-2007
| |
FO-121041 FO-161048
— Rotbasi Rotilli Salincak =
On On Sag
EC0132280A EC0134300N
FO-161049 FO-161048N
— Rotilli Salincak Rotilsiz Salincak
On Sol On Sag
EC0134350N EC0134300N
FO-161049N
Rotilsiz Salincak
On Sol
EC0134350N
2nd Gen 2007-2012
FO-13143 FO-14146A
Rot Mili Z-Rot
On On
AL8Z3280B 7L8Z5K483B
FO-14147A FO-12141
Z-Rot Rotbasi
Arka On
9L8Z5K484B 8L8Z3A130B

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
ESCAPE 2nd Gen 2007-2012
|
FO-12142 FO-16148
N\ Rotbasi Rotilli Salincak
On  OnSag Alt
8L8Z3A130A 6L8Z3078AA
|
FO-16149
Rotilli Salincak
On Sol Alt
6L8Z3079AA
ESCAPE 3rd Gen 2013 after
|
FO-19987 FO-16668
Denge Kolu Rotilli Salincak
Arka Alt On Sag Alt
CV625500J CV6Z3079F
| |
FO-16669 FO-14656
Rotilli Salincak Z-Rot N
OnSol At Arka Ay
cvezsorsc ~ -=179mm
CV615C486AAB
| |
FO-19441 FO-13193
Denge Kolu Rot Mili S
H Arka Alt On
2463500053 AV6Z3280E
|
FO-12482 FO-12481
Rotbasi Rotbasi Pammy
On Sol On Sag &
M16X1,5 M16X1,5
1780103 1780102
| |
FO-14468
Z-Rot
H On
L=298mm
1686594

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
ESCORT Europe 1981-1983
|
FO-11204 FO-16127
S Rotil Rotilli Salincak
7 On  OnSagAlt ‘
| D=217mm 5100990
6228814
| |
FO-16128 FO-16127N
Rotilli Salincak Rotilsiz Salincak
~ OnSol At On Sag Alt ‘
6100991 6100990
| |
FO-16128N
Rotilsiz Salincak
u On Sol Alt
6100991
ESCORT Europe 1982-1993
| .|
FO-2082
P Salincak Burcu
"“‘: On Sag Alt ig
. 85GB3063AC
ESCORT Europe 1983-1990
| |
FO-2084 FO-13202
— Salincak Burcu Rot Mili
Orta On P
6107025 M1/2"x20-L=290mm
- 6127726
|
FO-16221 FO-12101
Rotilli Salincak Rotbasi Q
m On Sag Alt On
1986-1990 M1/2"x20Rht
86AB3078A2A 5021410
|
FO-16222
Rotilli Salincak
M On Sol
1986-1990
86AB3079A2A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
ESCORT Europe 1990-2000
FO-13304 FO-12301
Rot Mili Rotbasi
-y T On On Sag
ManuelSteering M14x2-L324mm M14x2Rht
91AB3L519AA 6555936
|
N FO-12302 FO-12401
? Rotbasi Rotbasi
" On Sol On Sag
M14x2Rht Only:Escort2.0cc M14x2Rht
6555938 6120231
|
FO-14310 FO-16350N
Z-Rot Rotilsiz Salincak
&_ﬁ On On Alt
L=237mm 4058279
1661237
|
FO-12402 FO-11305
©, Rotbas! Rotil
“ On Sol On
Only:Escort2.0ccYear M14x2Rht Only:Fiesta D=@17mm
6120232 95AB3395AB
|
FO-16350 FO-16351
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6615743 6770225
|
FO-2086 FO-2087
— Salincak Burcu Salincak Burcu
On Sag Alt ig OnDis
89FB3063AD 91AB3A262AA
EXPEDITION 1st Gen
|
FO-121280 FO-121281
Rotbasi Rotbasi
On Sag Dis On Sol Dis
F65Z3A130BA F65Z3A130BA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= [and
EXPEDITION 1st Gen
FO-121282 FO-12571
Rotbasi Rotbasi
On Sag Dis Onig
F65Z3A130CA 2L.3Z3A130CA
FO-121283 FO-111050
Rotbasi Rotil
On Sol Dis On
F65Z3A130AB F5TZ3079A
FO-161054 FO-161055
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6L323078B 6L323079B
FO-161058 FO-161059
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
5L323084B 5L323085B
FO-141020 FO-141056
Z-Rot Z-Rot
Arka On
YL1Z5K484AA F65Z5495AC
EXPEDITION 2nd Gen
|
FO-13573 FO-121151
Rot Mili Rotbasi
On On Dig
2L1Z3280GA 2L1Z3A130CA
FO-16576 FO-16577
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
6L1Z3084BA 6L1Z3085BA

FORD

1997-2003

parsrot.com

16

info@parsrot.com



Rot sy

mw Land FORD
EXPEDITION 2nd Gen 2003-2006
|
FO-16578 FO-16579
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
_ 6L1Z3078AA 6L1Z3079AA .
| |
LN-14206
Z-Rot
On
L=126mm
2L1Z5K483AD
EXPEDITION 3rd Gen(U324) 2007-2015
| |
FO-12582 FO-11591
N Rotbasgi Rotil -
(] \‘\"":, OnSol  OnAlt
\ ' 7L1Z3A130L 9L3Z3050A
FO-13583 FO-12581
— Rot Mili Rotbasi
On On Sag
9L3Z3280A 7L1Z3A130R
FO-16598 FO-16599
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
6L3Z3084AR 6L3Z3085AL
FO-14586 FO-14587A
Z-Rot Z-Rot
On Arka
7L1Z5K483B 7L1Z5K484AB
3rd Gen
FO-132003 FO-111035
Rot Mili Rotil
Onig On Alt
1L2Z3280CA BL5Z3050A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 17 info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

mw Land FORD
EXPLORER 3rd Gen 2002-2005
|
FO-111184 FO-162008
Rotil Rotilli Salincak
Arka Ust On Sag Alt
_ K500169 2L.2Z3078AA _
| |
FO-162009 FO-111185
— Rotilli Salincak Rotil
On Sol Alt On Ust
2L.2Z3079AA 1L2Z3085AA
EXPLORER 4th Gen 2006-2010
| |
FO-111065 FO-161026
—_ Rotil Rotilli Salincak =
On Alt On Sag Ust
7L5Z3050A 6L2Z3084AA
FO-161027 FO-131023
— Rotilli Salincak Rot Mili
On Sol Ust Onig
6L2Z3085AA 7L2Z3280A
FO-121061 FO-111025
Rotbasi Rotil
On On Ust
AL2Z3A130A 6L2Z3085AA
FO-1060 FO-1140
Z-Rot Z-Rot
Arka On
K80898 6L5Z5495AA
U502
FO-13383 FO-12382
Rot Mili Rotbasi
On On
BB5Z3280A BB5Z3A130B

parsrot.com

18

info@parsrot.com



Rot sy

= [and
EXPLORER U502
FO-16627 FO-16628
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
GB523078C GB5Z3079A
FO-14380A FO-14381A
Z-Rot Z-Rot
Arka Sag Arka Sol
DG1Z5K484A DG1Z5K484B
FO-14386 FO-14387
Z-Rot Z-Rot
On Sag On Sol
BB5Z5K484A BB525K483A
EXPLORER UN105/UN150
|
FO-161118 FO-161119
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
7L5Z3078A 7L5Z3079A
FO-161018 FO-161019
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
8L5Z3084R 2L5Z3083AA
FO-13783 FO-13783K
Rot Mili Rot Mili Kiti
On On
AU2Z3280A AU2Z3280A
FO-121011 FO-11785
Rotbasi Rotil
On Dis On Ust
F5TZ3A131A F5TZ3082A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2010-2015

parsrot.com

19

info@parsrot.com



Rot sy

== Land FORD
EXPLORER UN105/UN150 1995-2001
|
LN-11205 FO-161016
Rotil Rotilli Salincak
On Alt On Sag Ust
6L1Z3079AA adjustabletype B
F77Z3082CA '
EXPLORER SPORT TRAC 2nd Gen 2007-2010
|
FO-111025 FO-161027
Rotil Rotilli Salincak N
On Ust On Sol Ust 'J “"':,
6L2Z3085AA 6L2Z3085AA
FO-161026
Rotilli Salincak
On Sag Ust
6L2Z3084AA
10th Gen 1997-2003
FO-141056 FO-161059
Z-Rot Rotilli Salincak
On On Sol Ust
F65Z5495AC 5L3Z3085B
FO-161058 FO-161055
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Alt
5L3Z3084B 6L3Z3079B
FO-161054 FO-111050
Rotilli Salincak Rotil
On Sag Alt On
6L323078B F5TZ3079A
FO-121283 FO-12571
Rotbasi Rotbasi
On Sol Dis Onig
F65Z3A130AB 2L3Z3A130CA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
F-150 10th Gen 1997-2003
|
FO-121282 FO-121281
N Rotbasi Rotbasi
On Sag Dis On Sol Dis
F65Z3A130CA F65Z3A130BA
FO-121280
Rotbasi
On Sag Dis
F65Z3A130BA
11th Gen 2004-2008
FO-11591 FO-121161
Rotil Rotbasi
On Alt On Dis
9L3Z3050A 4L3Z3A130CA
FO-16599 FO-16598
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Ust
6L3Z3085AL 6L3Z3084AR
12th Gen
FO-16598 FO-16599
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
6L3Z3084AR 6L3Z3085AL
FO-14586 FO-14590
Z-Rot Z-Rot
On On
7L1Z5K483B AL3Z5K483A
FO-14596 FO-13593
Z-Rot Rot Mili
On On
4WD  GRrazazsoc
9L3Z5K483D

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
F-150 12th Gen 2009-2015
|
FO-11591 FO0O-12582
Rotil Rotbasi
On Alt On Sol
_ 9L3Z3050A 7L1Z3A130L
| |
FO-12581
— Rotbasi
On Sag
7L1Z3A130R
F-250 SUPER DUTY 1st Gen 1999-2007
| |
FO-111071 FO-111124
P Rotil  Rotil -
:"‘f'" \‘\": On Ust On Alt
\_ F5UZ3049A  5C3Z3050D
F-250 SUPER DUTY 2nd Gen 2008-2010
| |
FO-111124 FO-111071
— Rotil Rotil —
On Alt On Ust
5C3Z3050D F5UZ3049A
F-250 SUPER DUTY 3rd Gen 2011-2016
.|
FO-111071 FO-111124
Rotil Rotil
On Ust On Alt
_ F5UZ3049A 5C3Z3050D
| .|
FO-121290 FO-121291
Rotbasi Rotbasi
OnDig On Sol Dis
AC3Z3A131A AC3Z3A131AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



A
&Ilana' FORD

F-350 SUPER DUTY 1st Gen 1999-2007

FO-111124 FO-111071
Rotil Rotil
On Alt On Ust
5C323050D F5UZ3049A

N
|
I“ ‘
| |
I |
F 4

F-350 SUPER DUTY 2nd Gen 2008-2010

FO-111071 FO-111124
Rotil Rotil
On Ust On Alt
F5UZ3049A 5C3Z3050D

F-350 SUPER DUTY 3rd Gen 2011-2016

FO-111124 FO-121290
Rotil Rotbas!
On Alt On Dis
5C3Z3050D AC3Z3A131A

FO-121291 FO-111071
P Rotbasgi Rotil P
‘) ! On Sol Dis On Ust &
AC3Z3A131AA F5UZ3049A

FIESTA | 1976-1983
|
FO-12101 FO-13106
Rotbasi Rot Mili
On On -ﬂ

M1/2"x20Rht 2X20UNFMan.St. L=260mm
5021410 6186194

FIESTA Il 1984-1989
[ I
FO-13106 FO-11105

Rot Mili Roil &
t— 7 On On i

¥%.X20UNFMan.St. L=260mm Man.St.
6186194 6130589

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 23 info@parsrot.com



—
sy L and

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD
]l 1990-1994
FO-11110 FO-16151
Rotil Rotilli Salincak
On On Sag Alt
D=@17mm ManuelSteering
1047852 94FB3042EA
FO-16152 FO-16251
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
ManuelSteering ManuelSteering
94FB3051EA 94FX3042EB
FO-16252 FO-16271
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
ManuelSteering 94FB3042CA
94FX3051EB
FO-16272 FO-16273
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
94FB3051CA  16V1800cc
94FB3042DB
FO-16274 FO-16151N
Rotilli Salincak Rotilsiz Salincak P
OnSol At On Sag Alt AN
16V1800cc  94kp3042EA Y
94FB3051DB
FO-16152N FO-16251N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
94FB3051EA 94FX3042EB
FO-12101 FO-11305
Rotbasi Rotil Y
M1/2"x20Rht Only:Fiesta D=@17mm ;
5021410  95AB3395AB -

parsrot.com

24

info@parsrot.com



Rot sy

mw Land FORD
FIESTA 1990-1994
FO-13107 FO-2087
Rot Mili Salincak Burcu
e On On Dis
M1/2"x20Rht-L=302mm 91AB3A262AA
89FB32555BA
|
FO-2086
= Salincak Burcu
On Sag Altig
89FB3063AD
1994-1996
|
FO-16264N FO-16263N
Rotilsiz Salincak Rotilsiz Salincak —
On Sol Alt On Sag Alt
94FB3051BA 94FB3042BA
| |
FO-16264 FO-16263
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
PowerSteering PowerSteering
94FB3051BA 94FB3042BA
| |
FO-11115 FO-14310
Rotil Z-Rot
On On {
D=@16.5mm L=237mm
94FB3395A2B 1661237
| |
- FO-12260 FO-12922
v Rotbasgi Rotbas| -
= %)
i On On Sol
M1/2"x2 M16x1,5RHT \

6969518 1097323 ‘ -
| |
FO-16261 FO-16262
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
ManuelSteering ManuelSteering
94FB3042AD 94FB3051AD

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
FIESTA il 1994-1996
|
FO-16261N FO-13340
— Rotilsiz Salincak Rot Mili
On Sag Alt Onig —
94FB3042AD 1??7%20-L=300mm
XS5C3L519AA
FIESTA v 2017 after
| |
FO-131093 FO-121091
— Rot Mili Rotbagi PammN
On On Sag
2090582 2090579
| |
FO-121092 FO-14236A
o Rotbasi Z-Rot -
On Sol On
2095043 Metal-L=251mm
8V575K484B
| |
FO-14236
Z-Rot
% On
Usatype
8V513B438AB
FIESTA IV BoxJV 1996-1998
FO-16282 FO-16281
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
ManuelSteering ManuelSteering
1E0034350A 1E0034300A
FO-16283 FO-16284
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
PowerSteering PowerSteering
1E0134300A 1E0034550A
FO-16281N FO-16282N
= Rotilsiz Salincak Rotilsiz Salincak =
On Sag Alt On Sol Alt
1E0034300A 1E0034350A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

26

info@parsrot.com



—
sy L and

FIESTA

FIESTA

FORD
IV BoxJV 1996-1998
|
FO-16283N FO-16284N
Rotilsiz Salincak Rotilsiz Salincak —
On Sag Alt On Sol Alt
PowerSteering PowerSteering
98FB3042CA 98FB3051CC
FO-14310 FO-20353
Z-Rot Salincak Burcu
On Arka
L=237mm 7371059
1661237
FO-11115 FO-13114
Rotil Rot Mili
On On ——
D=@16.5mm M14x2-L=313mm
94FB3395A2B B196FB3L519BA
|

FO-23112114

FO-23111114

Rot Takimi Rot Takimi
On Sol On Sag
1E0132280A 1E0032280A
FO-12112 FO-12111
Rotbasi Rotbasi
On Sol On Sag
M14x2Rht M14x2Rht
1020175 1020174
FO-2089 FO-2088
Salincak Burcu Salincak Burcu
On Dis On Sag Altig
96FB3A262AD 96FB3063AA
IV BoxJV
FO-16291 FO-16292
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
ManuelSteering ManuelSteering
98FB3042BF 98FB3051BF

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

1998-2001

parsrot.com

info@parsrot.com



—
sy L and

FORD

IV BoxJV
FO-16293 FO-16294
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
PowerSteering PowerSteering
98FB3042BF 98FB3051BF
— FO-16291N  FO-16292N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
ManuelSteering ManuelSteering
1071683 1071701
FO-16293N  FO-16294N
— Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
PowerSteering PowerSteering
1071694 1072279
FIESTA USA Market
FO-14236A FO-16238N
Z-Rot Rotilsiz Salincak
On On Sag Alt
Metal-L=251mm 8V513042BH
8V575K484B
FO-16238 FO-16239
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8V513042BH 8V513051BH
FO-16239N FO-12232
B Rotilsiz Salincak Rotbasi
On Sol Alt On Sol
8V513051BH BE823A131A
FO-14236 FO-12231
Z-Rot Rotbasi
&H? On On Sag
Usatype  gegz3a130
8V513B438AB

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

1998-2001

2011 after

parsrot.com

28

info@parsrot.com



Rot sy

= [and FORD
I —————————
USA Market 2011 after
FO-11234 FO-13693
Rotil Rot Mili
On Alt On
1751955 BE8Z3280A
2002-2008
|
FO-20396 FO-20398
Salincak Burcu Salincak Burcu
On Dis Orta
1212807S2 1215648
FO-14244 FO-12241
Z-Rot Rotbasi S
On On Sag 47l
L=284mm M14x1,5Rht
Y125613B438AC Y1256J3289AC
|
FO-12242 FO-13247
Rotbasi Rot Mili
On Sol On at——
M14x1,5Rht M14x1,5-L=278mm
Y1256J3290AC 4472940
|
FO-16246 FO-16246N
Rotilli Salincak Rotilsiz Salincak —
) ) A\
On Sol Alt On Sol Alt |
1436095 1436095
|
FO-11243 FO0-16245
Rotil Rotilli Salincak
On Alt On Sag Alt
D=@16,5mm 1436097
2S613395AB
|
FO-16248 FO-16249
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
(Bush Casting) (Bush Casting)
Y125613042AH Y125613051AH

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
FIESTA \") 2002-2008
|
FO-16245N
Rotilsiz Salincak
On Sag Alt
1436097
FIESTA Vi 2008-2016
FO-16238 FO-16239
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8V513042BH 8V513051BH
FO-16238N FO-16239N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
8V513042BH 8V513051BH
FO-11234 FO0-12232
Rotil Rotbasi
On Alt On Sol
1751955 BE823A131A
FO-14236 FO-13233
Z-Rot Rot Mili
On On
Usatype 14x1,5-L=294mm
8V513B438AB 8V513L519AA
FO-12231 FO-14236A
Rotbasi Z-Rot
On Sag On
BE8Z3A130 Metal-L=251mm
8V575K484B
FO-20263 FO-20264
Salincak Burcu Salincak Burcu
Alt Orta
D65134300B D65134300B

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

30

info@parsrot.com



Rot sy

FORD
1st Gen 2009-2012
|
FO-121201
Rotbasi
On Dig
9G1Z3A130A
| europe made 1998-2004
FO-13453 FO-19447
Rot Mili Denge Kolu
On Arka Alt Arka
M14x2-L=343mm 30666105
98AG3L519AA
FO-12451 FO-12452
Rotbasi Rotbasi
On Sag On Sol
M14x2Rht M14x2Rht
98AG3289AA 98AG3290AA
FO-11455 FO-16457
Rotil Rotilli Salincak
On On Sag Alt
D=217.5mm  98pG3042AK
94FB3395B2A
FO-16458 FO-16457N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
98AG3051AK 1090730S1
FO-16458N FO-20367
Rotilsiz Salincak Salincak Burcu
On Sol Alt Arka
1090738S1 CV615K652AAA
FO-18444 FO-18450
Salincak Tamir Kiti Salincak Tamir Kiti
Arka On

FO-440/FO-441/FO-447

FO-455-F0O-460-SB95/SB96

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

31 info@parsrot.com



—
sy L and

FOCUS

| europe made

FO-18456

Salincak Tamir Kiti

On

FOASTIFO S RBF 8- 48RSk IS 23R

FO-18555

Salincak Tamir Kiti

Arka

SF21/SC94/FO-440/FO-441/FO-442

FO-14442 FO-14443
Z-Rot Z-Rot
Arka Arka
L=115mm L=110mm
1061702 2M515E594AA
FO-14460 FO-14460A
Z-Rot Z-Rot
On On
Mod:1.4SE16VAIm. L=237mm Only:2.0E16V L=237mm
98AG3B438AD YS713B438AA
FO-20443K FO-20366
Z-Rot Kiti Salincak Burcu
Arka Arka
L=110mm — cyp15KE52AAA
1203093
FO-19441 FO-19440
Denge Kolu Denge Kolu
Arka Alt Arka Ust
2463500053 1329730
FO-19657 FO-20287
Denge Kolu Salincak Burcu
Arka Ust Arka
8V415500AA 1686184
FO-2096 FO-2095
Salincak Burcu Salincak Burcu
On Dis On Sag Alt ig
98AG3A262AH 98AG3063AE

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD
1998-2004

parsrot.com

32

info@parsrot.com



—
sy L and

Il europe made

FORD

2004-2011

aRatdiaty

FO-20590 FO-20712
Salincak Burcu Salincak Burcu
Orta Arka

30714128 1502738
FO-20287 FO-19657
Salincak Burcu Denge Kolu
Arka Arka Ust
1686184 8V415500AA
FO-12461 FO-11465
Rotbasi Rotil
On Sag On
M16x1,5Rht D=@15mm
274501 3M513K209AA
FO-12462 FO-16466N
Rotbasi Rotilsiz Salincak
On Sol On Sag Alt
M16x1.5Rht  4\M513A423BC
1388549
FO-16478 FO-11464
Rotilli Salincak Rotil
On Sag On Alt
D=@21mm D=17,8mm
31262037 3M513395BC
FO-16467 FO-16466
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
D=G@18mm Ball Joint D=@18mm
1309149 1309148
FO-19440 FO-13463
Denge Kolu Rot Mili
Arka Ust Onig
1329730 M16x1.5,L=293mm
1377655

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
I —————————
FOCUS Il europe made 2004-2011

FO-13463K FO-19441
A~ Rot Mili Kiti Denge Kolu
: On  Arka Alt
4M513L519AB 2463500053

FO-16479 FO-14468
Rotilli Salincak Z-Rot

On Sol Alt On
D=@21mm L=298mm

31262039 1686594

FO-18420 FO-16467N

Salincak Tamir Kiti Rotilsiz Salincak

On On Sol Alt
FO-467/FO-466/FO-461/F-462/FO-4%6 AM513A524AC

FO-14469 FO-20366

Z-Rot Salincak Burcu —
Arka Arka

L=76mm  oy615K652AAA

30683232

FO-13533 FO-20367

Rot Mili Salincak Burcu
Onic Arka
M16x1,5-A=L-293mm CV615K652AAA
4M513L519AB

FO-19447 FO-18666

Denge Kolu Salincak Tamir Kiti

Arka Alt Arka Arka
30666105 FO-441/FO-447/FO-469

FO-14496
Z-Rot

Arka
8M515E494AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 34 info@parsrot.com



Rot sy

mw Land FORD
FOCUS Il USA Type 2005-2010
FO-13432 FO-13433
Rot Mili Rot Mili
On On
withfixedratio. ithoutfixedratio.2009-2011,withresttravel
9S4Z3280A 9S473280B
FO-12436 FO-12437
Rotbasi Rotbasi
On Sag On Sol
8S4Z3A130B 8S4Z3A130A
FO-11434 FO-16438
Rotil Rotilli Salincak
On Alt On Sag Alt
8S4Z3079A 8S473078A
FO-16439 FO-14430A
Rotilli Salincak Z-Rot
On Sol Alt On
8S4Z3079A AS4Z5K484A
|
FO-19441 FO-19440
Denge Kolu Denge Kolu
H Arka Alt  Arka Ust
2463500053 1329730
| |
FO-20287
Salincak Burcu
Arka
1686184
FOCUS lll europe made 2011 after
|
FO-13463K FO-13463
Rot Mili Kiti Rot Mili
On Onig .
4M513L519AB M16x1.5,L=293mm

1377655

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

35

info@parsrot.com



Rot sy

lll europe made

FO-19441 FO-19477
Denge Kolu Denge Kolu
Arka Alt Arka Ust
2463500053 AV615500CB
FO-14480 FO-12481

Z-Rot Rotbasi
Arka On Sag
L=76mm M16X1,5
BV615C486BAA 1780102
FO-12482 FO-13490
Rotbasi Rot Mili
On Sol On
M16X1,5 'l\r/y%ex:Elgfgigsg-lrxg{aulicsmering
1780103 1899978
FO-11494 FO-11495
Rotil Rotil
On Sol On Sag
D=2021mm  gv613A423AAB
BV613A424AAB
FO-14496
Z-Rot
Arka
8M515E494AA

lll europe made

FO-19497 FO-16498
Denge Kolu Rotilli Salincak
Arka Alt On Sag Alt
BV615K652ED 8V613A423AAC
FO-16499 FO-16498N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
BV613A424AAC 8V613A423AAC

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

2011 after

2011-2018

info@parsrot.com



—
sy L and

FOCUS

lll europe made

FO-16499N FO-14560
Rotilsiz Salincak Z-Rot
On Sol Alt On
BV613A424AAC  EuropeMade
AV6Z5K484B
FO-14468 FO0O-20524
Z-Rot Salincak Burcu
On On Sag Alt ig
L=298mm 41749992
1686594
FO-20823
Salincak Burcu
OnDig
1793237

Il USA Type

FO-19477 FO-12482
Denge Kolu Rotbasi
Arka Ust On Sol
Aveissoocs  M16X15
1780103
FO-12481 FO-16489
Rotbasi Rotilli Salincak
On Sag On Sol Alt
M16X1,5 (ALM)
1780102 AV613A424PA
FO-16488 FO-13193
Rotilli Salincak Rot Mili
On Sag Alt On
(ALM) " Avez3280E
AV613A423PA
FO-16795 FO-16794
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt

UsaMarket,Aluminium

BV6Z3079F

UsaMarket,Aluminium

BV6Z3078F

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2011-2018

2012 after

parsrot.com

37

info@parsrot.com



Rot sy

== Land FORD
FOCUS Il USA Type 2012 after
|
FO-19441 FO-14560
Denge Kolu Z-Rot —
Arka Alt On
2463500053 ~ EuropeMade
AV6Z5K484B
|
FO-19796 FO-19797
Denge Kolu Denge Kolu —
Arka Arka Alt
BV6Z5500C (U.S.AMarket)
BV625500D
FO-16798 FO-16799
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
UsaMarket UsaMarket
F1FZ3078A F1FZ3079A
|
VOL-14700
Z-Rot
Arka
UsaMade
CV6Z5K484F
FREESTAR 3rd Gen 2004-2007
|
FO-121211
Rotbasi
OnDis
3F2Z3A130BA
FUSION 1st Gen usa type 2006-2012
|
FO-19165 MA-13703
Denge Kolu Rot Mili
Arka Ust On
G26A28C10 GJ6E32240
FO-19360 FO-12161
Denge Kolu Rotbasi
Arka Alt On Sag
G26A28500B AE5Z3A130B

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
1st Gen usa type 2006-2012
> MA-11704 FO-12162
&1 Rotil Rotbas! /,,_;—‘.\
On Ust On Sol :fﬁ @ ‘\:'
GJ6A34540  AE5Z3A130A Y
FO-16167 FO-16168
— Rotilli Salincak Rotilli Salincak e,
A\ ) ) ) . A\
:|: |:, On Sag Ust On Sol Ust :|: N ‘:,
\\_&:// AE5Z3084A  AE5Z3085A \G/
FO-16169 FO-16188
— Rotilli Salincak Rotilli Salincak —
A\ ) ) A\
:( |:, On Alt On Sag :|: N ‘:,
\\_&:// AE5Z3078A  GJ6A34J00B \\0/
FO-14160 FO-16189
— Z-Rot Rotilli Salincak —
A\ ) ) A\
:|: ) |:, On On Sol :|: N ‘:,
\g/ AE5Z5KAB3A  GJBA34J508 \\m/
MA-14712 FO-20855
= Z-Rot Salincak Burcu —
AN\ - A\
:( S |:, Arka Onlg :I: N ‘:,
\l\?/ GJBA28170A  GHP928480 K&)
FO-20885 FO-20889
— Salincak Burcu Salincak Burcu —
AN ) R\
) AL A (AN)
\Q/ GJ6A34J00D  AE5Z3078A \\%
FO-20931

Salincak Burcu

H’,;./;-L\“?\' Arka
| RNY )
\_Y G26A28C10

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 39 info@parsrot.com



—
sy L and

FUSION

FUSION

D

2nd Gen
FO-19685 FO-13683
Denge Kolu Rot Mili
Arka Ust On
DG9Z5500A DG9Z3280A
FO-12681 FO-12682
Rotbasi Rotbasi
On Sag On Sol
UsaMarket UsaMarket
DG9Z3A130A DG9Z3A130B
FO-16678 FO-16679
Rotilli Salincak Rotilli Salincak
On Sag On Sol
ALM.UsaMade ALM.UsaMade
GS7Z3079A GS7Z3078A
FO-14396 FO-14397
Z-Rot Z-Rot
On Arka
DG9Z5C486A DG9C5C486AXC
FO-201008 FO-201010
Salincak Burcu Salincak Burcu
On Sag Alt Dis On Altlg
FG9C3A052ANB 1927132
FO-201009
Salincak Burcu
On Sol Alt Dis
FG9C3A053ANB

europe made

FO-14244
Z-Rot

On

L=284mm
Y125613B438AC

FO-16246N
Rotilsiz Salincak
On Sol Alt
1436095

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2013 after

2003-2009

parsrot.com

40

info@parsrot.com



Rot sy

== Land FORD
FUSION europe made 2003-2009
FO-16246 FO-16245N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
1436095 1436097
]
FO-16245 FO-11243
Rotilli Salincak Rotil
On Sag Alt On Alt
1436097 ~ D=216,5mm
25613395AB
]
FO-13247 FO-12242
Rot Mili Rotbasi
- On  OnSol
M14x1,5-L=278mm M14x1,5Rht
4472940 Y1256J3290AC
|
FO-12241 FO0O-20398
o Rotbasi Salincak Burcu
- On Sag Orta
M14x1,5Rht 1215648
Y1256J3289AC
|
FO-20396
Salincak Burcu
On Dis
1212807S2

1995-2006

VW-12752 VW-11755
Rotbasi Rotil
h Onsol  On
M14x1.5RMt yMm213395BA
7M0422817B
— VW-16756 VW-16757
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol
95VW3078AC 95VW3079AC

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 41 info@parsrot.com



Rot sy

mw Land FORD
GALAXY 1995-2006
|
VW-14750 VW-20750K
Z-Rot Z-Rot Kiti
’—=—b On On
L=205mm V-750X2
95VW5489AC 95VW5489AC
| |
VW-13753 VW-23751753
Rot Mili Rot Takimi
—ﬂ Onlig On Sag °___~
M14x1,5-L=182.5mm 7M0422804G
7M0422804EF
| |
VW-23752753 VW-12751
Rot Takimi Rotbasi
h —— On Sol On Sag ﬂ
7M0422803G ~ M14x1.5Rnt
7M0422818B
| .|
FO-2097 FO-2098
Salincak Burcu Salincak Burcu
Orta On Sag Alt Dig
7M0501541 7M0407181A
GALAXY 2006-2015
| |
FO-20745 FO-20665
Salincak Burcu Salincak Burcu
Arka Sag
1377449 30881488
|
FO-20666 FO-13973
Salincak Burcu Rot Mili
Sol On =
7GIN3AO53BA M18x1,5-L=315mm
6G913280AB
|
FO-13973K FO-12971
Rot Mili Kiti Rotbasi
On On Sag
6G913280AB  M18x1.5
31280001

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

FORD

GALAXY

2006-2015

g

GRANADA

FO-14470 FO-11975
Z-Rot Rotil
On On
L=300mm  gG9N3395AA
6GIN3B438BA
FO-16977 FO0O-19940
Rotilli Salincak Denge Kolu
On Sol Alt Arka
30760720 ~ L=194.5mm
6G915K743XAD

1972-1982

W

1999-2007

FO-13602 FO-12601
Rot Mili Rotbasi
On On
M14x2Rht-L=250mm M14x2Rht
15711 71BB3289AA
FO-16985 FO-16986
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
1225488 1225490
FO-16985N FO-16986N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
1225488 1225490
FO-12111 FO-23111114
Rotbasi Rot Takimi
On Sag On Sag
M142RMt  4E0032280A
1020174
FO-23112114 FO-13114
Rot Takimi Rot Mili
On Sol On
1E0132280A M14x2-L=313mm
B196FB3L519BA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

|

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
1999-2007
FO-11115 FO-20284
Rotil Salincak Burcu
On On Alt Dig
D=@16.5mm 1225490
94FB3395A2B
| |
FO-2086
A Salincak Burcu
: On Sag Alt i¢
89FB3063AD
2008-2016
FT-16369 FT-14366
Rotilli Salincak Z-Rot
On Sol On
9s513078ACc  L=287mm
51801136
FT-12332 FT-16368
Rotbasi Rotilli Salincak
On Sol On Sag Alt
M12x1,5Rht  95513078BC
9S513270AA
FT-12331 FO-16378
Rotbasi Rotilli Salincak
On Sag On Sag
M12x1,5Rht Type:MKII
9S513270BA 9S513078BC
FO-16379 FT-2011
Rotilli Salincak Salincak Burcu
On Sol Alt On Sag Altig
Type:MKII 1540244
9S513078AC
FT-20186
Salincak Burcu
Orta
16545660

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
KA RB 1996-2008
FO-13343 FO-12321
— Rot Mili Rotbasi
On On
only1.6LT 495gr ¥?77x20
1250339 1034417
FO-111234 FO-161238
Rotil Rotilli Salincak
On Alt On Sag Alt
1448485 1448485
FO-161239 FO-16335
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
1448487 PowerSteerinManuel
97KB3042DB
FO-16336 FO-16345
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
PowerSteering ManuelSteering
97KB3051FB 97KB3042BD
FO-16346 FO-16347
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
ManuelSteering PowerSteering
97KB3051FB 97KB3042AC
FO-16348 FO-16325
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
PowerSteering ManuelSteering
97KB3051AC 1032098
FO-16326 FO-16335N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
ManuelSteering 97KB3042DB
1032101

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

45

info@parsrot.com



Rot sy

mw Land FORD
KA RB 1996-2008
FO-16345N FO-16346N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
ManuelSteering ManuelSteering
97KB3042BD 97KB3051FB
FO-16347N FO-16348N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
PowerSteering PowerSteering
97KB3042EB 97KB3051AC
FO-11115 FO-14310
Rotil Z-Rot
On On
D=@16.5mm L=237mm
94FB3395A2B 1661237
FO-13340 FO-2086
Rot Mili Salincak Burcu
Onig On Sag Alti¢
¥%??x20-L=300mm 89FB3063AD
XS5C3L519AA
FO-2087
Salincak Burcu
On Dis
91AB3A262AA
2008-2013
FO-20712 FO-20590
Salincak Burcu Salincak Burcu
Arka Orta
1502738 30714128
FO-14656 FO-14468
Z-Rot Z-Rot
Arka On
L=179mm L=298mm
CV615C486AAB 1686594

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

info@parsrot.com



Rot sy

mw Land FORD
KUGA 2008-2013
FO-13463 FO-13463K
Rot Mili Rot Mili Kiti
Onig On
M16x1.5,L=293mm 4M513L519AB
1377655
FO-19657 FO-19653
Denge Kolu Denge Kolu
Arka Ust Arka Alt
8V415500AA 8V415K652AA
FO-19667 FO-12651
Denge Kolu Rotbasi
Arka Alt On Sag
L=223mm M16X1,5
8V415K743AA 8V413C367AA
.|
FO-12652 FO-11654
Rotbasi Rotil
On Sol On Sag Alt
M16X1.5 4723323
8V413C437AA
FO-11655 FO-16658
Rotil Rotilli Salincak
On Sol Alt On Sag Alt
1723324 8V413A423AC
FO-16659
Rotilli Salincak
On Sol Alt
8V413A424AC
2013 after
FO-13663 FO-11664
Rot Mili Rotil
On On Sag
M16X1,5-L=293mm CV613A423AAC
1780104

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
KUGA | 2013 after
FO-11665 FO-13663K
Rotil Rot Mili Kiti
On Sol On
CV613A424AAC AV6C3L519BA
FO-19657 FO-14468
Denge Kolu Z-Rot
Arka Ust On
8V415500AA  L=298mm
1686594
FO-12481 FO-12482
Rotbasi Rotbasi
On Sag On Sol
M16X1,5 M16X1,5
1780102 1780103
FO-14656 FO-16669
Z-Rot Rotilli Salincak
Arka On Sol Alt
L=179mm  cvez3078C
CV615C486AAB
FO-16668 FO-19987
Rotilli Salincak Denge Kolu
On Sag Alt Arka Alt
CV6Z3079F CV6Z5500J
FO-20366 FO-20367
Salincak Burcu Salincak Burcu
Arka Arka
CV615K652AAA CV615K652AAA
MAVERICK (UDS,UNS) 1983-1998

NS-12553 NS-12561

Rotbasi Rotbasi

-
Onig On Sag @ J
M16x1,5Rht  M16x1,5Lht m—

4852061G25 4857031G25

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 48 info@parsrot.com



A
&Ilana' FORD

MAVERICK (UDS,UNS) 1983-1998

NS-12562 NS-11554A
- Rotbasi Rotil
w On Sol On Ust
_é M16x15Lht  401400F000
4852031G25
P NS-11559 NS-14567 —
Rotil Z-Rot
On Alt On
4016050wo1  -87mMm
546180F000
—— NS.12552 —
Rotbasi
OnDig
4 M16x1,5Rht
4857061G25
MAVERICK 1st Gen 2001-2005

FO-161049N FO-161048N
Rotilsiz Salincak Rotilsiz Salincak
On Sol On Sag
EC0134350N EC0134300N

4"
I“ ‘
|
¥y
A
A"
I“ ‘
|
F |
r 4

FO-161049 FO-161048
Rotilli Salincak Rotilli Salincak
On Sol On Sag
EC0134350N EC0134300N

FO-121041
Rotbasi

On

EC0132280A

MONDEO I 1993-1996

FO-19925 FO-13903
P Denge Kolu Rot Mili
& Arka Alt On ——— s
93BB5K652CG M16X1,5-L=333mm

7294415

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 49 info@parsrot.com



Rot sy

mw Land FORD
MONDEO 1993-1996
FO-12901 FO-12902
Rotbasi Rotbasi
On Sag On Sol
M16x1,5Rht M16x1,5Rht
5027452 5027451
FO-16935 FO-16936
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
97BG3042CA 97BG3051CA
FO-16935N FO-16936N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
97BG3042CA 97BG3051CA
FO-14911 FO-14911A
Z-Rot Z-Rot
Arka Arka
L=102mm WithSilentBlocksCompleto L=102mm
93BB5K566AC 93BB5K566AC
FO-201007 FO-2090
Salincak Burcu Salincak Burcu
Arka Ust
6710265 93BB3063AA
FO-2091 FO-2092
Salincak Burcu Salincak Burcu
Ust Dis OnDis
95BG3A262AA 93BB3A262BA
FO-2091 FO-2090
Salincak Burcu Salincak Burcu
Ust Dis Ust
95BG3A262AA 93BB3063AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

MONDEO

FO-20664 FO-201007
Salincak Burcu Salincak Burcu
Onig Arka
1102950 6710265
FO-19939 FO-13923

Denge Kolu Rot Mili
Arka Alt On
L=601mm M16x1,5-L=340mm
93BB5K652AC 3903147
FO-13924 FO-16937
Rot Mili Rotilli Salincak
On On Sag Alt
15"-16"Wheels M16x1,5-L=355mm 1102948
F5RC3280EA
FO-16938 FO-16937N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
1102949 1102948
FO-16938N FO-12921
Rotilsiz Salincak Rotbasi
On Sol Alt On Sag
1102949 M16x1,5RHT
1097316
FO-11905 FO-14910
Rotil Z-Rot
On On
D=@18mm L=237,5mm
93BB3395AC 6960036
FO-14912 FO-14926
Z-Rot Z-Rot
Arka Arka
L=102mm L=95mm
S193BBSK566AH 1072446

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

1996-2000

parsrot.com

51

info@parsrot.com



—
sy L and

MONDEO

MONDEO

FORD
Il 1996-2000
FO-14912A FO-16936N
Z-Rot Rotilsiz Salincak
Arka On Sol Alt
WithSilentBlocks L=102mm 97BG3051CA
93BB5K566AH
FO-16935N FO-16936
Rotilsiz Salincak Rotilli Salincak
On Sag Alt On Sol Alt
97BG3042CA 97BG3051CA
FO-16935 FO-19925
Rotilli Salincak Denge Kolu
On Sag Alt Arka Alt
97BG3042CA 93BB5K652CG
FO-12922
Rotbasi
On Sol
M16x1,5RHT
1097323
]| 2000-2007
FO-11954 FO-11955
Rotil Rotil
On Alt On
2.2TDCI D=@21mm D=@21mm
1S713395AF C2S19367
FO-16957 FO-16958
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
1S713042AH 1S713051AH
FO-16966 FO-16967
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
2.2TDCI 2.2TDCI
1S713042AM 1S713051AM

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

52 info@parsrot.com



—
sy L and

MONDEO

FO-16957N FO-16966N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sag Alt
1311416 22TDCI
1S713042AM
FO-16967N FO-16958N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sol Alt
22T0CL 4341417
18713051AM
FO-14947 FO-14948
Z-Rot Z-Rot
Arka Arka
1S715C486AD Only:SW1,8SFI L=51mm
1S715C486BE
FO-14949 FO-14950
Z-Rot Z-Rot
On On
Metal L=249mm Plastic L=250mm
C2S26883 5X433B438AA
FO-19945 FO-19956
Denge Kolu Denge Kolu
Arka Alt On Arka Alt
18715K743CA 18715K652CA
FO-19959 FO-19960
Denge Kolu Denge Kolu
Arka Ust On Arka Ust Arka
15715K743A8  --600mm
1S715K652AB
FO-19961 FO-12951
Denge Kolu Rotbasi
Arka Alt On
L=575mm M16x1,5Rht
1206474 1S713290BB

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2000-2007

parsrot.com

53

info@parsrot.com



Rot sy

mw Land FORD
MONDEO 2000-2007
FO-13923 FO0O-20869
Rot Mili Salincak Burcu
On Arka
M16x1,5-L=340mm BV62Z5500D
3903147
FO-20770 FO-2093
Salincak Burcu Salincak Burcu
Arka Orta
1214290 1118476
FO-2094
Salincak Burcu
OnDig
1S713042AK
2007-2014
FO-20771 FO-20665
Salincak Burcu Salincak Burcu
Onig Sag
1469125 30881488
FO-20666 FO-20667
Salincak Burcu Salincak Burcu
Sol Orta
7GIN3A053BA LR007205
FO-20745 FO-19968
Salincak Burcu Denge Kolu
Arka Arka Ust
1377449 6G915500BAA
FO-19969 FO-12972
Denge Kolu Rotbasi
Arka On Sol
6G915Ke52XAE  M18x1.5
31280001

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

MONDEO

FO-16976N FO-16977N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
1469024 1469026
FO-14979 FO0-19940
Z-Rot Denge Kolu
Arka Arka
L=116mm L=194,5mm
30760678 6G915K743XAD
FO-16977 FO-11975
Rotilli Salincak Rotil
On Sol Alt On
30760720 B6GIN3395AA
FO-14470 FO-13973K
Z-Rot Rot Mili Kiti
On On
L=300mm  6G913280AB
6GION3B438BA
— FO-13973 FO-16976
Rot Mili Rotilli Salincak
e On On Sag Alt
M18x1,5-L=315mm 31277344
6G913280AB
MONDEO
FO-19395 FO-13393
Denge Kolu Rot Mili
Arka Ust On
DGYC5500BXA Europenmade, (Electicpowersteering)
DG9C3D032BA
FO-12391 FO0-12392
Rotbasi Rotbasi
On Sag On Sol
B=M14X2 B=M14X2
DG9C3289CA DG9C3290CA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2007-2014

Fe

2014 after

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

== Land FORD
I —————————
MONDEO \") 2014 after
FO-14397 FO-14396
Z-Rot Z-Rot
Arka On
DG9C5C486AXC DG9Z5C486A
FO-16679 FO-16678
Rotilli Salincak Rotilli Salincak
On Sol On Sag
ALM.UsaMade ALM.UsaMade
GS7Z3078A GS7Z3079A
FO-201009 FO-201010
Salincak Burcu Salincak Burcu
On Sol Alt Dig On Altlg
FG9C3A053ANB 1927132
FO-201008
Salincak Burcu
On Sag Alt Dig
FG9C3A052ANB
MUSTANG 4th Gen 1994-2004
|
CH-14450 FO-121131
Z-Rot Rotbasi
On On Dig
4656260AA 2R3Z3A130AB
5th Gen
FO-13633 FO-12641
Rot Mili Rotbasi
On On
POWER-HYDRAULIC.Mustang2010. DR3Z3A130A
9R323280B
FO-11635 FO-16638
Rotil Rotilli Salincak
On Alt On Sag Alt
4R3Z3079B 4R3Z3078B

info@parsrot.com



Rot sy

= Land FORD
MUSTANG 5th Gen 2005-2010
FO-16639 FO-14636
Rotilli Salincak Z-Rot
On Sol Alt Arka
4R3Z30798 Mustang.Shelby.withupsizedstabilizer
5R3Z5C488AA
FO-14637 FO-14640A
Z-Rot Z-Rot
Arka On
Mustangsallypackage.Coupe,Bﬁeg,r%%? 8R3Z5K483B
5R3Z5C488BA
FO-20962 FO-20963
Z-Rot Burcu Z-Rot Burcu
Arka Arka
5R3Z5C488AA 5R3Z5C488AA
FO-20964
Z-Rot Burcu
Arka
5R3Z5C488AA

2010-2015
FO-20962 FO-14640A
Z-Rot Burcu Z-Rot
Arka On
5R3Z5C488AA 8R3Z5K483B
FO-12641 FO-13643
Rotbasi Rot Mili
On On
DR3Z3A130A ﬁ}qm%FééllésL_ECTRlC.Mustan9201 1-14,wi
BR323280B
FO-11645 FO-14646
Rotil Z-Rot
On Alt Arka
CR3Z3078D Coupe;w/oSpecialVehiclePackage

CR3Z5C488Q

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land
MUSTANG 5th Gen
FO-14647 FO-12482
Z-Rot Rotbasi
Arka On Sol
Withoutperformancepackage. M16X1,5
CR3Z5C488R 1780103
MUSTANG 6th Gen
|
FO-13593 FO-19719
Rot Mili Denge Kolu
On Arka Alt
GR323280C FR3Z5A972A
FO-19723 FO-19728
Denge Kolu Denge Kolu
Arka Arka Sag Ust
FR3Z5K898A FR3Z5500C
FO-19729 FO-12721
Denge Kolu Rotbasi
Arka Sol Ust On
FR3z5500D FR3Z3A130A
FO-11735 FO-16724
Rotil Rotilli Salincak
On Ust On Sag Alt
FR3Z3079C FR3Z3078B
FO-16725 FO-16726
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
FR3Z3079B FR3z3078D
FO-16727 FO-16732
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Ust
FR3Z3079D FR3Z3079C

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2010-2015

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
|
MUSTANG 6th Gen 2016 after

FO-16733 FO-16738
N Rotilli Salincak Rotilli Salincak
\ On Sol Ust On Sag Ust
FR3Z3078C FR3Z3078A

FO-16739 FO-14720
P~ Rotilli Salincak Z-Rot P
’ On Sol Ust On !
FR3Z3079A FR3Z5K483A

|
FO-14720A
N Z-Rot
| o
-;{_::\ SteelType
‘ FR3Z5K483A
ORION ({11)] 1990-1993
| |
FO-16350N FO-11305
N\ Rotilsiz Salincak Rotil )

On Alt On
1058279 Only:Fiesta D=@17mm

95AB3395AB

FO-16351 FO0-16350
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
6770225 6615743
|

Ml

FO-2087
Salincak Burcu

OnDis
91AB3A262AA

(1-10) 1983-1990

FO-2082 FO-2084
Salincak Burcu Salincak Burcu
On Sag Altig Orta
85GB3063AC 6107025

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 59 info@parsrot.com



Rot sy

== Land FORD
(0]3{[0])] (1-11) 1983-1990
|
FO-13202 FO-16221
Rot Mili Rotilli Salincak
— P On On Sag Alt d
M1/2"x20-L=290mm 1986-1990
6127726 86AB3078A2A
|
FO-12101 FO-16222
Rotbasi Rotilli Salincak
On On Sol M
M1/2"x20Rht 1986-1990
5021410 86AB3079A2A

P100 PICK-UP

1982-1992

ki

FO-12401 FO-12402
Rotbasi Rotbasi
On Sag On Sol
Only:Escort2.0cc M14x2Rht Only:Escort2.0ccYear M14x2Rht
6120231 6120232
FO-16411 FO-16412
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol
830K3B376DA 83BB3079BA
FO-2082 FO-2085
Salincak Burcu Salincak Burcu
On Sag Alt ig Orta
85GB3063AC 88GB5493AB

POLICE INTERCEPTOR UTILITY 2013-2016

FO-14387 FO-14386
Z-Rot Z-Rot
On Sol On Sag
BB5Z5K483A BB5Z5K484A

FO-13383
Rot Mili
On
BB5Z3280A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

PROBE

FORD

1993-1998

MA-13203 MA-12201
Rot Mili Rotbasi
Onig On
M14x1,5-L=286mm M14x1,5Rht
GJ2232250 F02Z3A130A
MA-11202 MA-13223
Rotil Rot Mili
On Alt On
D=@18mm M14x1,5-L=300.8mm
G03034550B GA2A32250
MA-16235 MA-14210
Rotilli Salincak Z-Rot
On Sag Alt On Sol
GAGBE34300  L=104.5mm
GA2A34170A
MA-16236 MA-14212
Rotilli Salincak Z-Rot
On Sol Alt Arka
GAGBE34350 ~ --88mm
GA2C28170B
FO-20234
Salincak Burcu
Orta
GA2B34470A

L

i

1997-2002

FO-16284 FO-16283
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
PowerSteering PowerSteering
1E0034550A 1E0134300A
FO-14310 FO-12111

Z-Rot Rotbasi
On On Sag
L=237mm M14x2Rht
1661237 1020174

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

61

info@parsrot.com



Rot sy

mw Land FORD
1997-2002
|
FO-11115 FO-13114
Rotil Rot Mili

On On i

D=@16.5mm M14x2-L=313mm

94FB3395A2B B196FB3L519BA
] |

FO-23112114

FO-23111114

Rot Takimi Rot Takimi
On Sol On Sag
1E0132280A 1E0032280A
FO-2089 FO-2088
Salincak Burcu Salincak Burcu
OnDig On Sag Alti¢
96FB3A262AD 96FB3063AA

RANGER | europe made 1999-2006
|
MA-12551 MA-12552
Rotbasgi Rotbas| ’f:i‘
Onig OnDis .
M14x1,5Rht M14x1,5Lht &-—
UA0199323 UA0199324 S
|
MA-11504 MA-11553
Rotil Rotil
On Alt On Ust
UCB8634510A UH7134540
| USA Type 1998-2011
| |
FO-161039 FO-11780
Pam Rotilli Salincak Rotil Pt
:“'i; | ‘ On Sol Ust On Alt IJ ‘
Y F87Z3085AA  F87Z3050BA A '
| |
FO-161038 FO-13783
P Rotilli Salincak Rot Mili —
g ! On Sag Ust On
F87Z3084AA AU2Z3280A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
RANGER | USA Type 1998-2011
|
FO-161016 FO-11785
— Rotilli Salincak Rotil
On Sag Ust On Ust
adjustabletype F5TZ3082A
F77Z3082CA
FO-13783K FO-161019
Rot Mili Kiti Rotilli Salincak
On On Sol Ust
AU2Z3280A 2L.5Z3083AA
FO-161018 FO-111035
Rotilli Salincak Rotil
On Sag Ust On Alt
8L5Z3084R BL5Z3050A
Il 2006-2011
|
FO-121171 FO-121191
Rotbasi Rotbasi =
On Dis OnDis
UR5632280 UR6132280
MA-12561 MA-11560
Rotbasi Rotil
Onig On Alt
M14x1.5  yR6134550
UR5632250
TKE 2011-2019
FO-12730 FO-12731
Rotbasi Rotbasi
On Sag On Sol
1727226 1729240
FO-111075 FO-141250
Rotil Z-Rot
On Alt On
1727228 AB313052AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 63 info@parsrot.com



Rot sy

== Land FORD
RANGER TKE 2011-2019
FO-14736 FO-14737
Z-Rot Z-Rot
On Sag On Sol

EuroMarketForvehicleswithrideheisgghtad{
ustmen

UC7C34150

EuroMeirketForvehicleswithrideheightadj
ustmen

UC7C34170

FO-131253
Rot Mili

On

1775547

FO-2085 FO-2083
Salincak Burcu Salincak Burcu
Orta On Sag Alt ig
88GB5493AB 5021464
FO-13502 FO-12501
Rot Mili Rotbasi
On On
M14x2-L=307mm M14x2Rht
6194368 856B3289AA
FO-16511 FO-16512 —
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol b
6154290 6194370

SCORPIO 1995-1998

FO-12521 FO-12522
Rotbasi Rotbasi
On Sag On
M16x1,5Rht M16x1,5Rht
95GX3270BA 95GX3270AA
FO-14510 FO-20510
Z-Rot Salincak Burcu
On Onig
L=248,5mm  95GB3A2628B
95GB3B438AC

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
SIERRA 4WD 1982-1993
FO-13403 FO-16413
Rot Mili Rotilli Salincak
On On Sag Alt
M14x2-L=280mm Only:4WD
6185335 V85GB3078AB
FO-16414 FO-16412
Rotilli Salincak Rotilli Salincak
On Sol On Sol
Only:4WD  g3pR3070BA
880K3B377DA
FO-16411 FO-12402
Rotilli Salincak Rotbasi
On Sag Alt On Sol
830K3B376DA Only:Escort2.0ccYear M14x2Rht

6120232

FO-12401 FO-2083
Rotbasi Salincak Burcu —
On Sag On Sag Alt ig
Only:Escort2.0cc M14x2Rht 5021464
6120231
FO-2082 FO-2085
Salincak Burcu Salincak Burcu
On Sag Alt ig Orta
85GB3063AC 88GB5493AB
(WA®6) 2006 after
| |
FO-16976
Rotilli Salincak
On Sag Alt
31277344
(WA6) 2006-2015
|
FO-13973 FO-13973K
Rot Mili Rot Mili Kiti
"5 On On
M18x1,5-L=315mm 6G913280AB
6G913280AB

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
S-MAX (WA6) 2006-2015
FO-12971 FO-14470
Rotbasi Z-Rot
On Sag On
M18x1,5 L=300mm
31280001 6GON3B438BA
FO-11975 FO-16977
Rotil Rotilli Salincak
On On Sol Alt
6GION3395AA 30760720
FO-19940 FO-16976N
Denge Kolu Rotilsiz Salincak
Arka On Sag Alt
L=194,5mm 1469024
o 6G915K743XAD
FO-12972 FO-20745
Rotbasi Salincak Burcu
On Sol Arka
M18x15 4377449
31280001
FO-20667 FO-20666
Salincak Burcu Salincak Burcu
Orta Sol
LR007205 7G9N3A053BA
FO-20665
Salincak Burcu
Sag
30881488

1.6 - CORTINA

1970-1982

FO-13602 FO-12601
Rot Mili Rotbasi
- ) On On
M14x2Rht-L=250mm M14x2Rht
15711 71BB3289AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= [and FORD
TAUNUS 1.6 - CORTINA 1970-1982
|
FO-11604 FO-11605
Rotil Rotil
On On Alt
880X3K209AA 6009974
TAURUS 1st Gen 1986-1991
| .|
FO-141260
Z-Rot
On
F4DZ5K484A
TAURUS 2nd Gen 1992-1995
| .|
FO-141260
Z-Rot
On
F4DZ5K484A
TAURUS 3rd Gen 1996-1999
|
FO-121221 FO-111074
N Rotbasi Rotil
| E OnDig On Alt
‘ 3F1Z3A130AA 5F1Z3V050A
| .|
FO-141246 FO-141247
Z-Rot Z-Rot N
On Sag On Sol &
3F1Z5K484A 3F1Z5K483A
| .|
FO-1220
TN Z-Rot
A
E9DZ5A486A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

mw Land FORD
TAURUS 4th Gen 2000-2007
FO-1220 FO-141247
Z-Rot Z-Rot
Arka On Sol
_ E9DZ5A486A 3F1Z5K483A _
| |
FO-141246 FO-111074
— Z-Rot Rotil
On Sag On Alt
3F1Z5K484A 5F1Z3V050A
| |
FO-121221
Rotbasi
OnDig
3F1Z3A130AA
TAURUS 5th Gen 2008-2009
|
FO-141110 FO-141116
Z-Rot Z-Rot
Arka On
7F9Z5K484S 7F9Z5K484R
FO-141117
Z-Rot
On
7TF9Z5K483L
6th Gen 2010-2017
FO-141126 FO-141127
Z-Rot Z-Rot
On Sag On Sol
GG1Z5K484A GG1Z5K483A
FO-121201
Rotbasi
On Dis
9G1Z3A130A

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
TAXI after
.|

FO-11970

Rotil

On

TRANSIT 1964-1985

FO-12701 FO-12702

Rotbasi Rotbasi

On Sol Dig On Sag
M20x1,5Rht M20x1,5Rht

6148436 6148439

FO-12703 FO-12704

Rotbasi Rotbasi

On Sag On Sol
M18x1,5Lht M18x1,5Lht

1796515 1796516

TRANSIT 1985-1987

FO-12711 FO-12751

Rotbasi Rotbasi

On Dis On Sag
M16X1,5Rht M20x1,5Rht

86VB3289A2D 86VB3285A2A

FO-12752 FO-12754

Rotbasi Rotbasi

On Sol On
M20x1,5Lht M16x15Lht

C5NN3A300B 86VB3308A2A

FO-11713
Rotil

On
86VB3395A2E

o —
-
=

TRANSIT 1987-1992

| .|
T —— e

FO-13712

Rot Mili

On
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amagli kullaniimigtir.
MASB--=300mm

parsrot.com 86VB3L3519AD 69 info@parsrot.com



—
sy L and

TRANSIT

FORD

1987-1992

FO-12851 FO-12852
Rotbasi Rotbasi
On Sag On Sol Dis
M20x1,5Rht M20x1,5Lht
6313380510 6163544
FO-12853 FO-12854
Rotbasi Rotbasi
On Sag On Sol
M16x1,5Rht M16x1,5Lht
6163546 6589456
(T12,T15) 1992-2000
FO-12811 FO-11813 S
Rotbasi Rotil [
On On ?
M16x1,5Rht D=@22mm
6687191 92VB3395A2C
FO-14770 FO-14771
Z-Rot Z-Rot
OnSag  On Sol P‘
L=144mm L=144mm
86VB3B438AA 86VB3B439AA
FO-13712
Rot Mili
On
M16x1,5-L=399mm
86VB3L3519AD
(V184) 2000-2006
FO-13824 FO-13825
Rot Mili Rot Mili
Sol Sag
M16x1,5-L=380mm M20x1,5-L=380mm
4602028 4577976
FO-12821 FO-11823
Rotbasi Rotil
On On Alt
M16x1,5Rht 4173761
6C113289AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= [and FORD
TRANSIT (V184) 2000-2006
|
FO-14705 FO-14707
Z-Rot Z-Rot
On On H
Small Inner
F75A5C491BA YL155495AA
|
FO-14710 FO-14820
Z-Rot Z-Rot
On Arka _ |i
Completo L=347,5mm
3736028S1 YC155C486AE
|
FO-16828 FO-16829
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
4540774 4540775
|
FO-20706 FO-20714
Z-Rot Burcu Z-Rot Kiti
On On
Outer Completo
F65A5K483CC 3736028S1
|
FO-20527 FO-20528
Salincak Burcu Salincak Burcu
Orta On Sol Alt Dis
YC153069AG YC153A262AD
TRANSIT V347-348 2006-2014
| |
FO-20528 FO0O-20527
Salincak Burcu Salincak Burcu
On Sol Alt Dis Orta
YC153A262AD YC153069AG
| |
FO-11834 FO-16848
Rotil Rotilsiz Salincak
On Alt On Sag Alt
(HeavyDuty) Only:Heavyduty
KT6C113K209AA 6C113A052BD

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
TRANSIT V347-348 2006-2014
|
FO-16849 FO-16829
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sol Alt
Only:Heavyduty 4540775
6C113A053BD
|
FO-16828 FO-14820
Rotilsiz Salincak Z-Rot
OnSagAlt  Arka _ Ii
4540774 ~ L7347.5mm
YC155C486AE
|
FO-14888 FO-11823 @
Z-Rot Rotil <
On  OnAlt '
L=290mm 4473761 ‘
4519467
4
.|
FO-12821 FO-13825
Rotbasi Rot Mili
On Sag —t———— i
M16x1,5Rht M20x1,5-L=380mm
6C113289AA 4577976
| .|
FO-13824
Rot Mili
-———————{ Sol
M16x1,5-L=380mm
4602028
TRANSIT V363, euro made 2014 after
|
FO-13893 FO-12891
Rot Mili Rotbasi —
On On
M16x1.5-L=382mm M16x1.5
BK213L519AA BK213289AA
FO-11865 FO-11894
Rotil Rotil
On Alt On Alt

Only:->410/460lik TypeFront

KTBK313K209AA

Only:->350likTypeFront

KTBK213K209AB

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

TRANSIT

V363, euro made

FO-16868 FO-16869
Rotilsiz Salincak Rotilsiz Salincak
On Sag On Sol
BK313A052AD BK313A053AD
FO-14860 FO-14890
Z-Rot Z-Rot

Arka On
1849811  L=290mm
BK213B438AA
FO-20957 FO-20958
Salincak Burcu Salincak Burcu
On On Sag Alt
BK313A053AD BK313A053AD

TRANSIT CONNECT europe made
- FO-12871 FO-16876
et Rotbasi Rotilsiz Salincak
¢ On  OnSajAlt
MI4X2 4371025
W12T143289AA
FO-16877 FO-14874
Rotilsiz Salincak Z-Rot
On Sol Alt Arka
4366974 ~ L=133mm
4436609
FO-14875 FO-11823
Z-Rot Rotil
On On Alt
L=238mm 4473761
2T143B438BB
FO-20395 FO-20390
Salincak Burcu Salincak Burcu
Arka Orta
1355050 4366976

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

FORD

2014 after

parsrot.com

info@parsrot.com



Rot sy

mw Land FORD
TRANSIT CONNECT Il europe made 2013 after
FO-13663 FO-13663K
Rot Mili Rot Mili Kiti
On On
M16X1,5-L=293mm AV6C3L519BA
1780104
FO-11804 FO-11805
Rotil Rotil
On Sag Alt On Sol Alt
DV613A424AF DV613A424AF
FO-16808 FO-16809
Rotilli Salincak Rotilli Salincak
On Sag On Sol
DV613A423AF DV613A424AF
FO-201066 FO-201082
Salincak Burcu Salincak Burcu
On Sag Dis On Sol Dis
DV613A423AF DV613A424AF
usa type 2010-2013
FO-12741 FO-14874
Rotbasi Z-Rot
On Arka
UsaMarket L=133mm
2T1Z3A130A 4436609
FO-16877 FO-16876
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
4366974 4371925
FO-11823 FO0-14910
Rotil Z-Rot
On Alt On
4173761 L=237,5mm
6960036

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land FORD
TRANSIT CONNECT usa type 2010-2013
|

FO-13453

Rot Mili

_——4 C")n

M14x2-L=343mm

98AG3L519AA
WINDSTAR 2nd Gen 1995-2003
|

FO-141260

Z-Rot

On

_ FADZ5K484A
WINDSTAR 3rd Gen 2004-2007
| |

FO-121211

Rotbasi

On Dis

3F2Z3A130BA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 75 info@parsrot.com






